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I. $08 Aoty QoSoé.( Solve the problems )
1. ma@mn&m3mmé‘m. es 2km 350 mmyégagmﬁm &r¥o
SeSEES :vp:huéﬂ.ﬁ S T-L) 303 &8o o ?

Madhu's house is 3 km away from his school. He covers 2 km 350 m on cycle
and the remaining distance on foot. How much distance does he cover on foot?

Sol: km - m
* oeddood w88 Ke &rdo
(distance between house and school) 3 - 000
* 2862308 ardo
( distance covered by cycle ) _ = A = 350
* o8d 3G 39S Brvo
( distance covered on foot) km m

2. a.gﬁ'm&gmméﬁg.'}m 10 cm o g TS sm¢54§‘e§omso§wagaoéngemdo?

A tailor uses 3 m 10 cm of cloth to stitch one coat. How much cloth does he
require to stitch 4 such coats?
Sol: * csg 2% §f %0508 3m 10 cm o g es5850.

( tailor needs 3 m 10 cm cloth to stitch one coat )

* 4 §°6 o 5045708 e5000 wond vy = 3m10cm X 4

( cloth need to stitch such 4 coats )
m - cm
3> - 10
X 4

m cm
3. 35,5 Ko og5R) S7d Se §0B Siodgein fosok.

A WBMMC&}MS:MM?

( How much distance between
hyderabad and Vijayawada.)
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B. 808 3ot sroed® D &rdo o8 ? 88 3dnhod.
Which distance is more from the following two distances.
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Suryapet to Kodad Kodad to Vijayawada
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